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énoncé

Calculer les sommes suivantes :

1 1+2+3+4+·· · +149+150

2 1+3+9+27+·· · +310

3

n∑

k=0

5
k

4

n∑

k=0

(7k+2)
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correction

1 D’après le cours de première,
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correction

1 D’après le cours de première,
n∑

k=0

k =
n(n+1)

2
,
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correction

1 D’après le cours de première,
n∑

k=0

k =
n(n+1)

2
,

donc 1+2+3+4+·· · +149+150 =
150×151

2
= 11325.
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correction

2 D’après le cours de première,pour q 6= 1,
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correction

2 D’après le cours de première,pour q 6= 1,
n∑

k=0

q =
1−qn+1

1−q
,
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correction

2 D’après le cours de première,pour q 6= 1,
n∑

k=0

q =
1−qn+1

1−q
,

donc 1+3+9+27+·· · +310 =
1−311

1−3
= 88573
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correction

3 En utilisant la même formule,

1−5n+1

1−5
=

5n+1 −1

4
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correction

3 En utilisant la même formule,

1−5n+1

1−5
=

5n+1 −1

4

4

n∑

k=0

(7k+2) = 7

(
n∑

k=0

k

)

+2(n+1)
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correction

3 En utilisant la même formule,

1−5n+1

1−5
=

5n+1 −1

4

4

n∑

k=0

(7k+2) = 7

(
n∑

k=0

k

)

+2(n+1)

= 7×
n(n+1)

2
+2n+2.
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correction

3 En utilisant la même formule,

1−5n+1

1−5
=

5n+1 −1

4

4

n∑

k=0

(7k+2) = 7

(
n∑

k=0

k

)

+2(n+1)

= 7×
n(n+1)

2
+2n+2.

NB :
n∑

k=0

2= 2+2+·· · +2
︸ ︷︷ ︸

n+1 fois

.
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